
=
=

4.14 Transforming of Trigonometric             
Expressions to Product 

=

434. 
O

Åçë
O

ëáåOëáåëáå
β−αβ+α

=β+α =

=

435. 
O

ëáå
O

ÅçëOëáåëáå
β−αβ+α

=β−α =

=

436. 
O

Åçë
O

ÅçëOÅçëÅçë
β−αβ+α

=β+α =

=

437. 
O

ëáå
O

ëáåOÅçëÅçë
β−αβ+α

−=β−α =

=

438. ( )
α ⋅ β
α +β

α + β =
Åçë Åçë

ëáå
í~å í~å =

=

439. ( )
α ⋅ β
α −β

α − β =
Åçë Åçë

ëáå
í~å í~å =

=

440. ( )
α ⋅ β
β+α

α + β =
ëáå ëáå

ëáå
Åçí Åçí =

=

441. ( )
α ⋅ β
β−α

α − β =
ëáå ëáå

ëáå
Åçí Åçí =

=

442. 





 + α
π

 =





 −α
π

α + α =
Q

O ëáå
Q

Åçë ëáå O Åçë =

=

443. 





 + α
π

 =





 −α
π

α − α =
Q

O Åçë
Q

Åçë ëáå O ëáå =

=

444. ( )
α ⋅ β
α −β

α + β =
Åçë ëáå

Åçë
í~å Åçí =



=

445. ( )
β⋅α

β+α
−=β−α

ëáåÅçë

Åçë
Åçíí~å =

=

446. 
O

ÅçëOÅçëN O α=α+ =

=

447. 
O

ëáåOÅçëN O α=α− =

=

448. 





 α

−
π

+ α =
Q O

N ëáå OÅçëO =

=

449. 





 α

−
π

− α =
Q O

N ëáå OëáåO =

=


